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Answer "E. NOTA" means "none of the above. "

L The ratio of 2 numbers is 1:4/2. Their sum is | _ 5. Solve over the real numbers:
Find the larger number. | Pr+T-x= 2
A 1+42 _ : L A. no solution
B.2+42 _ ' B. {-3,1}
C. -1+2 - T C oy
D.2-42 | - .~ D. {1
E.NOTA o o E. NOTA
111 | : 2
2. Solve -2—x+1-=——3—x+§~ 6. If -1is asolution ofx? + bx -3 = 0,
_ 3 : _ the other solution is
A -— '
10 o ] a2
B. > o b
50 B. -3
C 3 c 7
. 10 “e T i
o 97 D 3
50 - E.NOTA
E. NOTA | i |
- 7. Find the value of x + y + z.
- . f=-x+2,ifx>0 ' 3x-4y+z=-7
3. Given f(x) =45, ifx = 0 2x+2y-3x=12
o . . x‘3’ﬁ?<0 -Xx+3y+2z=1
- Find f(2)- £(0)+ f(-2) A -1
A. -10 | '
B 4 | - B. 1
C. 3 | R C.3
D10 : DS
E. NOTA ' . _ E. NOTA
_ _ 8. Where defined, g+ —3 =
. _ IR _ : x-1 x*-1 x°-1
4. Find xif log,(x +1) +log,(x -1) = 3, | § %
: A + 3 : A.. — '_3 —
ST _ | : x"-1-
B. £1 X +3x% +4x+3
cC. -3 ' _ B. 3
_ . _ (x +1}x” - 1)
D.8. ' x5 +3x% +4x+3
E. NOTA C. 3
' . ' (x-1)(x" -1)
3
D. —
x>+ x? -3

E. NOTA
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9. i=+-1. If 2 is a root of ' 13 Hxy=band —+—5=a then (x + y)* =
: x
x* +7x% +13x% +28x + 36 = 0, another root is _ ,
G A (a+2b)
-7 ++/13
A —— B d2+b?
o =5+43 - C. blab+2)
- B. - 5 _ _ D. ab(b +2)
C6+m - : -.E.NOTA
C 2 ..
_ 2+3 x 3 4
D > 14. Solve over the reals;: x° +x~ —=2x <0.
" E. NOTA | : - A (-0,-2]u[0,]]
B. [-2,0]U[L, <)
- 10. For an appropriate value of k, one root of o C. (==,-2)
the equation 2x° - 7Tx +k =0is one less _ _ D. [0, x)
than twice the other root. One of these roots 1s E. NOTA
A -2 )
B 2
5
C. = , : ay . _
z - | 15. Ifi* = ~1, then (1 +9)° —(1—i)° =
D. ; ' A -64
E. NOTA B. 64
C. —-16i
| | 1 . D. 0
11. The expression | - + equals
P B h E. NOTA
A -3 ‘ ¢
B. 1 ' : . 16. Solve the inequality ;—a(x-1)<3-
C. "E : . A x<-16
E. NOTA | C Cox<-ll
. e . Dx>-ll
12, Simplify: (J%TJ (2/%_‘-’) _' - E NOTA
A dt ' ':'
" B.a*
C. a'?
D a't
E. NOTA
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17 ’I'he graph ofy logx
A. intersects all Imes perpendicular to the x — axis
B. intersects the x - axis
C. intersects neither axis
D. intersects all circles whose center is at the ongm
E. NOTA : -

18. Find the coefficient of the third term for
- the expansnon of (x-5 y)
CA -375
B. 25
C.375
D. 1025
E. NOTA

19. log5=a,log3 =5, find logl35 in terms of @ and b.
- A.a+3b
B. ab’
C. 3ab

D. lc:zl;'3

E. NOTA

20 Iff(a) a +4andh(a b)= b‘+2ab+a
- thenh(3, f(-2)) =
A -5 '
0
19
24
NOTA

rﬂco.w

S21 1fx is 'a ﬁosi't'i\'ré’ number 'T;ftheﬁbﬁdlﬁfé value of
the dlfference of the soluixons of 2\/_ t+2x 2=5] is
A ¢ '
. B. 3-3- _
4
c2L
2

D, ll
2

E. NOTA

22. The simplified form of [ - -—Jx— is
P
l+x

2+x
1+3x
2+3x
I+x
2+x
E. NOTA

23." Given the quadratic equations below, which have
the property that the sum of its roots equals the
© product of its roots? |
1 2x243x-3=0
1A 3x -x+1= 0
- " III_ x? - 3x+ 4= 0
A Tonly o

~B. HD"IY e
C IandI[only e R
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24, (x+3)1safactorofcx +(16+c)x2+(3c+2)x 3

if and only if ¢ equals
A -8
B. -5
C.5
D.8
E. NOTA
25 If x and y are real numbers, and _
x(1+3i)+ Y2 +5) =1-12, findx+y.
A0 o
B. -1
C. -14
D -29 :
E. NOTA

26 What is the slope of theline3x+2y=77
A -

Wy

B.2
C.3
D.7 |
E. NOTA

27, The coeﬂ"iment of x* in the product
(1+3x)° (1+2x) is . '
A8 o
B 120
S Co144 |
oD1S6

“E. NOTA

A

28 Thegraphofy xs 'Sx —36xmtersects-

~ the x - axis in how many pomts‘7
Al '
B.2
C.3
D.5
_E.NOTA |

29 Find the dlstance between the vertices of
y=x _—-4x+3 andy_-”x -4x+ 5.
A8 ' '
6
4
.2
NCTA

Mo oW

~ 30.The solution 'set.'of the inequality ;}_03”2_ Y27 21is

D.x<—-§- orx>0

E. NOTA






